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(sin) (cos) (tan)

52° 0,7880 0.6157 1.2799
i 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764

55° 0,8192 0.5736 1.4281
D 1.1932 @ 1.1933 @ 1.1934
@1.1935 ® 1.1936

B \

tan 54 ° = 1.3764
sin 53 ° = 0.7986
cos52° = 0.6157
. (F4]) = 1.3764 - 0.7986 + 0.6157 = 1.1935




3. o= ™A x o 27

D 7+8V2 @ 7+8V3 ® 8+8V2
@)s+sv3 ® 9482

B

— 1
BD = 16 cos 60° = 16 x 3 =38

o 3
DC:AD=16sin60°:16x‘/7_=8x/§

~x=BD+CD=8+8V3




tanA = 0.5 & o, sin A + cos A &] FF-27(H, 0° <A <90°)
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AB - VT2 — V5 olt}
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6.  cos60° x tan 60° + sin 60° = AATSFH?
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7. o= 2"lA AtttelE ABCD ©of Hele?

@D 22 @ 25 ® 3V3+16
9v3
@ 63+ 16 @T+12

A AA BC o £4& WA T-E HH 2T o, sin30°
AH AH 1 —
_ = — = —, H=309°
AB 6 2 3 ol
BH BH V3 —
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, cos 30 — 5 5 ,BH =3vV3 o|th
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AABC ©llA4] /ABH = 180° - /B
sin(180° — /B) = g olm=z

h =0 xsin(180° — /B)

- AABC = %ah = %aD sin(180° — /B)
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AABC |4 L/ABH = 180° - /B

h
sin(180° - /B) = — °|B&
c
h = c¢xsin(180° — /B)

w2k AABC = %ah = %ac sin(180° — /B) ©Jt}.




10.

ohe Ty e ALY mopo)
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@ 48 (@)48\/5 ® 48V3 @ 48v5  © 48v6

BE =8 x cos45° = 42,
Hol=4v2x12 =482
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. 3tanB 3
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Hol = A4zt o] Yol x6 o]BR

X 6 X 6 X sin60° | x 6 = 543 o]t}




13.

x of TSt o)A A A ax? —2x +8 =0 9] §F 2¢] 28in90° — 3 cos0°

d o, a o gh= 5HE?

@-0 @ -2 @ ® 6

O AA ax? -2x+8 = 0 9 x = -1 2 YA, ax (-1)2 -
2x(-1)+8=0
a+2+8=0,a=-10




14. TAA £ - (
b 9] A71E? (&, tana < tanb , a,b = |2}

@® 0° @ 30° ® 45° (@)60"

B

V3+1)x+ V3=029 F <2 tana, tanb 2t

® 80°

moh

= (V3+1)x+ V3=0

(x=1)(x- V3) =0

x=1%FE=x= vV3o|th

tana < tanb ©|B& tana = 1, tanb = V3 °]t}.
.. b =060°




15. & I#H9)A BC = 4cm, /B = 30°, /ZACH = 45° ¥ o], AABC 9]

Hol=?
A
' A []
B ~4cem- C H
@ 5cm? @ Tcm? ® 3(V2+1)em?

@ 3(3 - V2)cm? (@)4( V3 4 1)cm?

B \

AH = xem & 318 CH = xcm

o x _ 1
AABH A tan 30 T3V
\/gx:4+x,(\/§—1)x:4
4
x= ‘/5_1_2(\/§+1)
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AABC:§x4x2(\/§+1):4(\/§+1)(cm2)




